Use Document Camera

Pick a couple of problems from workbook, pages 196 - 197 for a quick review
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'wood with a width of 4 ft and length of 16 ft. She is cutting
'ﬁl% Xact same size. She cuts the length diagonally to create
e of each trapezoid that results from the cut is 6 ft. What is
cut, ¢7 Show your reasoning.

16 ft |

i ing, l i d pounds
51 i te. He lets out 155 fit of string, ties the string toa tent peg, an s
' lsigf;n 'i: gk:ound. He then measures the distance to the point directly below the kite.
7 : be 85 ft. Assuming that the kite string is taut, how high is the kite?
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And now the grand finale!! Answee:
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Homework:

Page 289
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